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SECTION A
INSTRUCTIONS

USE THE TABLE ON PAGE 4 TO MARK THE LETTER (X) CORRESPONDING TO THE
CORRECT ANSWER. DO YOUR ROUGH WORK ON THE BLANK PAGES.

2 4 -3 2 -3 4
1 IfA={ }ande{l 5 7][hen A+ B is equal to:

3 5 =2
(4 11 5] 0 1 5
A B
0 1 1 {4 11 1}
(4 1 5]
C D None of the above
0 11 1
13 2 6
2 GivenA=|2 -1]|and Bz{4 3} then AxB is equal to:
6 -2
(10 3 ] -10 3
A 0O 8 B 0 8
_4 —30_ 4 -30
-10 3]
C 0O 8 D None of the above
i 4 30_
3 If‘ ““l=—11then xis equal to
X
A -7 B _—1
.
C _?1 D None of the above

4 Determine the distance between the following points on the Cartesian plane: A(9,3) B(-2,6)
A 6,32 B 10,58

C 114 D None of the above

13...
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5 If a line passes through the points (-4,7) and (-2,6), the equation of the line is:

1 1
A =5-—X B =—5+—X
y 2 y 2
2 1
C y=—-——X D None of the above
7 14
dy
6 If y=+/x+1then d—:
X
A 1 5 VX +1
24/ x +1 2
C % D None of the above
7 If the acceleration a of a body is given by a =t? + 2, then the displacement s is given
by
t3
A s=2t B S= 3 +2t+C
t4
C T t? +ct+C D  None of the above
8 If y=3% then dy is equal to
dx
A —x?37 B —x6In3
C —2x3% +In3 D None of the above

9 _f(1+ x)fl dxis equal to

2
A (—1 j +C
1+ X

C -In |1— x| +C D None of the above

w

In[L+x/+C

If the velocity v is given as v = et?, then the displacement between

10. :
t=0and t=e isequal to:
A 18,199 B 17.879
C 9.343 D None of the above

[20]
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ANSWER SHEET SECTION A

1 A C 6 A C D
> A C 7 A C D
3 A C 8 A C D
4 A C 9 A C D
5 A C 10 A C D

/5...
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SECTIONB
INSTRUCTIONS

SHOW ALL THE STEPS TAKEN AND GIVE YOUR FINAL ANSWER CORRECT TO TWO
DECIMAL PLACES WHERE APPLICABLE. USE PAGE 12 TO RE-DO ANY QUESTIONS
YOU MAY HAVE CANCELLED.

11 A building contractor has to build 3 different types of houses for a housing project.
There are 4 different locations in where the building will take place.
The table below gives this data:

SITES
A B C D
TYPES 1 2 5 0 4
OF 2 3 7 6 4
HOUSES 3 1 0 2 4

For each of the houses material in the form of cement (kg) and bricks are needed.

The amount of cement and bricks per house is given below:

TYPES OF HOUSES

1 2 3
MATERIAL CEMENT 200 250 300
BRICKS 4000 5000 6000

What amount of cement and bricks must be delivered to each site? Give your answer

in table form. (6)

TURN OVER FOR MORE SPACE FOR Q 11

/6...
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12

By making use of Cramer’s Rule determine the values of x andy in the following set

of equations:
2X+3y—-2z=-5

—4X+5z2+4y =4 (7)
32+3y—x=2

TURN OVER FOR MORE SPACE FOR Q 12
I7...
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13  Find the equation of a line in the standard form with:

X — intercept of _?2 and a y —intercept of g

3)

/8...
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14 Find the equation of a line in the standard form which is perpendicular to

3
2y —3x—4=0 and through point (2,5). )

15 Experimental data as given in the tabé below obey the law:y = ax* +b.

-2 0 2 4
y 5 -3 12* 29
i)
15.1 Find the values of a and b by linearization, also complete the table above
and write down the final equation. (5)

19...
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15.2 Rectify the errors that may have occurred in the experimental data. 2

16. The number of elephants (E) in the wild, that are being killed over a period of time t,
measured in years, is given in the table below and the killing rate follows the
model E = Ae“.

t 0 2 4 5 6
E 8500 8166 7846 7691 7538
16.1 Find the values of A and k and write down the final equation. (5)

16.2 Ift=0 is taken as 2005, determine the year when there will be 3000

2
elephants left in the wild? @

/10...
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17, ify=—2=" find & and simplify @)
' Vi-2x’ dx '
2(,3 2 . dy . .
18. Ify =2*(2*+5)°, find = and simplify. (4)
z
! 1
19.  Determine _[(Z+9t2 —E+e3‘)dt (4)
1

/11...
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20. The velocity of an arrow shot from a bow is represented by v(t) = 0.3t> + 3t — 2.

20.1 Find an expression for the displacement s at any time t. (3)

20.2 Find the distance travelled, in meters, by the arrow between t =2 and t =4 seconds. (2)

[70/

112...
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BLANK PAGE
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